A

WAGNER

GA2000EAC

HIHES84e 0
HusL 09
HRwLLY

IF20004A

2024.02

T - P = AN AL (e IR /Y o/ S B

Ik -



A
GA2000EAC WAGNER

POS S iEEd S JEAM ik
1 350270  |mwr 7 1 17,800
2 9994248  [ZA TV 1 1,500[~3A >k
3 350300  |[#BENDTL T T N— 1 30,600
4 350111 |27 &whk 1 110,000
4-1 350324 |2\ LTy RUT 4 — (1) 13,100
4-2 350322 (AU HAR (1) 11,800
4-3 179335 |7V 7wk (1) 5,200
4-4 9998040 [AF VLY (1) 2,000
4-5 350321  |[E°ARY (1) 24,200
4-6 350388  [E"ARL Sy (1) 7,700
4-7 179339 | o hoXwF O (1) 4,500
4-8 350323  [F b (1) 6,000
4-9 179342 |/ SyF % (1) 11,100
4-10 350505  |AT/SvF O (1) 5,900
4-11 179343  |ZAF AR (1) 5,900
4-12 9971182 |0 Vv O (1) 52014 X 1
4-13 179236  |fpdR—IL (1) 12,900
350910  |[P—E 2Bk 7,500
5 350224  |BBENTLT 70,200
6 9907007 |75 7CfAR VR 990[M6 X 110
7 9920118  |#V v ¥ — 540(7 X 12 X 1.5
8 9971164 |0V 690[28 X 1.5
10 9974009  |3—L Sy 6,500/10.2 X 2.62
11 9971372 |0 UL 540(8 X 2
12 350302  |[TAARNE 2—H— 6,900
13 9974010 |0 Vv 750(24 X 2
14 350303 B3 — 17,800
15 9971147 |0 U 960[7 X 1 /ARy
16 9925002 |AF v VUL 750(34 X 1

17 9974008 |0 V7 1,200|63.22 X 1.78

18 350115 HAT—K 380,000|Pos.17,21,22,23

~~
)—‘)—‘HHD—‘D—‘)—‘QD)—‘)—‘)—‘[\DHHHHHH}—‘)—‘[\DNHO
N—

19 9900743 |9 0EIL /AL 640|M4 X 60
20 9920130 |TUviv— 190[4.5 X 9.0 X 1.0
21 9971003 |0 U7 290[6 X 1
22 350385  |=v L 3,700
23 9971442 |0 UL 690[6 X 1.6
24 350304 |~y R AT 73,300
25 9971313 |0 UL 640[12 X 2
26 179375 | EZ—UL T 800
27 350213 |[Fp —hEvh 29,500
28 179430  |[F—Fh 5,200
29 179524 [V —hhRNL 2 — (1) 3,100
30 179487  |[>r—LoRvF 1 7,300
31 350122 |k 7 r—2A 1 92,700
32 179328 [V A LF vk 1 14,000
2 LF20004A-1

fIAk - dn - MRS T ERKER T 2ENHYET, 2024.02



GA2000EAC

A
WAGNER

POS S i B EAM ik

33 9994269 |z B IRAT YT 1 770

34 350501 |mrZ =y 1 14,700

35 179789 | —V T A2 — 1 9,800

36 179553 |2 —Uo o7y 1 1,200

37 9904407 |NFRSFT TS 1 250|R1/4

38 350305 [—Ur 7RIk 1 6,900

39 350243  [o— L RwF 2 7,700

40 350313  |[mwrF vk 1 5,200

41 350306 |=v 7L 1 17,800

42 350371 | T AARNIE 2—X 1 15,400

43 350370  |[E EAR /LR 1 8,600

44 97201  |Av TV 1 4,100|M16 X 1.5-NPS1/4

45 350319 [A~—H— 2 3,700

46 9900318 |/NFA AR LE 2 360[M8 X 20

47 350309 |7 T4 b 1 9,600

48 350369 |Amv kb 1 4,600

50 350214 |=7 —iEE vk 1 29,000

51 9913002 |#&F vk (1) 450(M3

52 350344 |[FL—k (1) 3,400

53 9998041 |FH#& /)~ (1) 6,500

54 350342 |=v 7L (1) 7,300

55 350341 |=7—arhm—L LT (1) 13,100

56 9971319 |0 Vv (1) 1,100(5 X 1.5

57 9992103 |T/LAR=A1 1 2,900

58 350312 & (1) 3,400|C fH-#E
9903019 [N /AT IED T (1) 360[M6 X 12

59 9900810 [ VEIfH/Il 2 450[M2 X 4

60 0350610 |F—A7L—h 1

61 350252 |[IKEESr—7 L 1 76,500[11m A {145
350407 |[IKEESr—7 v 1 45,100{0.15m B fH£E

62 350326 |7TL T AT 2— 1 11,300

63 179367 |7 mAvh 1 1,200

64 179369 |Uvi v— 1 1,600

65 9990829 |AJ—7 1 4,600

67 9903306 |+ A /il 2 220|M3 X 8

68 2103559 |/N—T2=FA 1 1,800|R1/4M X ( ¢ 8 ¢ 6)

69 2103560 |/ N—T=Fr 1 650[R1/4M X ¢ 10A HAE

(37) 9904407 | T TS 1) 250|R1/4

80 179641  |FLIRE XLtk 1 84,600|R15 - 4% ¥

81 128327 |[v—Uv T =o)L (1) 2,200

82 132516 |7 47 =2—H%— (1) 15,200

83 179642 (VAR T 4 (1) 55,700| ALK&

84 132724  |FLIREFT > (1) 26,000[R15

85 179452 | /A F bk 1) 21,000( ALK X

90 350120  |SFIRE A /LE vk 1 160,000

91 9971414 |0 Vv (1) 5,600[18.77 X 1.78

92 350380 |—Ur T UL (1) 7,800

93 148X XX AT T HER S

94 350274 |=7—F xS (1) 110,000k &

95 350377  |Frv 7 Fwh (1) 31,000 [ £ &

(RS

T - P = AN AL (e IR /Y o/ S B

3

LEF20004A-2

2024.02



